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3agaua L. IEJIMTEJIN

Ja ce HanuIe nporpamMa, KosTo HaMHpa:

e Opos Ha MPOCTHTE YKCIa B MHTEpBaa [a, b];
¢ 34 BCAKO YHUCJIO OT CbIIUA MHTCPBAJ, KOCTO HEC € IIPOCTO — HCTOBUA Hal-MalIbK IMpoCT ACIIUTECII.

Bxona: IIporpamara TpsiOBa qa Moske Jia 00paboTBa IMPH €IHO M3IIBIHCHUE HAKOJIKO TECTOBU IIPUMEPA,
KouTO ca 3amanenu B apomdveH (binary) daiis, xoiiro me Obae 3aaacH Karo CTAHAAPTEH BXO.
Bceku TecToB mpuMep ce ChCTOM OT JABETE 32-OUTOBH ITOJIOKUTENHH LIEJIN YHCIIa, KOUTO Ca KpauIila Ha
UHTEpBaJa — IbPBO BHB (aiiia e 3amucan JEBUAT Kpaii, a ocIIe — JeCHMSAT.

M3xox: 3a Bceku TECTOB IpUMED ITporpaMara TpsOBa J1a U3BE/E HAa CTAHAAPTHHUA U3XO0J, IIBPBO, PEL C
Tekcta test case #<t>: (cmasBaiiTe CTpUKTHO (OPMATHPAHETO OT MpHMepa), Kbaero <t> e
HOMEpPBT Ha TEKYIIUs TECTOB IPUMEP, a CIEJ TOBA pel C Tekcra <P > primes in [<a>,
<b>]., xpuero <a>u <b > ca gBara kpas Ha uHTEpBaNa, a <P > € OPOAT HA MPOCTUTE YUCIIA B
Hero. Beeku ot creqBanuTe peoBe B M3X0/a 3a TECTOBUI IpUMEp € BbB BHIa < ( > < K > 1 03Ha4aBa,
4e IMPOCTOTO YMCIO < (> € HaW-MaJgbK IPOCT JNENMTE] HAa < K > HENPOCTH 4YHCIa B HUHTEPBAJA.
JIBoiikuTe TpsibBa s1a ObJAaT COPTHUPAHU BBB BB3XOAAL] ped Ha < ( >. Mexly pe3yaTaTure oT BCEKU
7IBa TIOPE/IHU TECTOBU IpUMepa TpsiOBa 1a MMa 10 €1H MPa3eH pel.

Orpanuvennsi: 2 <a < 10’ 2<b<10".

IIpumep:

Bxoa H3xox

2 10 test case #1:

17 17 4 primes in [2, 10].
9 9 2 4

20 200 31

test case #2:
1l primes in [17, 17].

test case #3:
0 primes in [9, 9].
31

test case #4:

38 primes in [20, 200].

2 91

3 30

5 12

7 6

11 3

131

3abenexka: [lo MOHATHM NPUYMHU BXOAHHUTE JAaHHU B IPUMEpa ca IMOKAa3aHW B TEKCTOB, a HE B
JBOWYEH BUJ, KAKTO IIe OBJAT MOIACHN HAa CTAaHAAPTHUS BXO/I.
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Task L. DIVISORS

Write a program to find:
« the number of primes in the interval [a, b];
» the smallest prime divisor for each number from the same interval, which is not prime.

Input: The program must be able to process in one run several test cases that are set in binary file
which will be given as standard input. Each test case consists of two 32-bit positive integers that are
the ends of the interval — the left end is saved first in the file, and then — the right end.

Output: For each test case, the program must write to the standard output, first, a line with the text
test case #<t>: (strictly follow the format of the example), where <t > is the number of the
current test case; on the second line —the text<p > primes in [<a>, <b>].,where<a>and
<b > are the two ends of the interval, and <p > — the number of prime numbers in it. Each of the
following lines in the output for the test case should be in the form <q> <k > and means that the
prime number < q > is the smallest prime divisor of < k > not prime numbers in the interval. Couples
must be sorted in ascending order of <q >. Between each two consecutive test cases a blank line
should be printed.

Restrictions: 2 <a<10",2<b<10’.

Example:

Input Output

2 10 test case #1:

17 17 4 primes in [2, 10].
9 9 2 4

20 200 31

test case #2:
1l primes in [17, 17].

test case #3:
0 primes in [9, 9].
31

test case #4:

38 primes in [20, 200].
2 91

3 30

5 12

7 6

11 3

131

Note: For obvious reasons, the input data in the example is shown in text form, not binary, as will be submitted
on standard input.



